
Apr-27/2018 

 

 

 

 

 

 

 
 

 

Installation Instructions ï Page 2-8 
 

Operating Instructions ï Page 7 
 

Warranty ï Page 7 
 

Trouble Shooting ï Page 8-10 

 

 

 

 

 

Please forward to Customer 
 

 

Combine Cover Manual 

For Models: 
Case 8240 & 9240 with 410 Bushel Grain Tank 



 2 

 

                 Installation Instructions  

 

Please read entire Instructions before beginning. 
Pictures are for reference only and may not be of actual combine! 
 

Note: Left side is referred to the unloading auger side or Driverôs side 

Step 1:  Electrical Installation 
(See Figure 1-6) 

Mounting Electrical Hardware 
Mount the switch bracket on the inside of the sample door with 1/4"x1" bolts and nylon lock nuts.  

(Figure 1) The solenoid block gets mounted on the back side of the hopper in front of the engine and 

under the platform.  Use ıò x 1ò self-drilling screws to secure it.   (See Figure 2)   

 

 

 

 

  

 

 

  

 

 

 

 

 

 

 

 

Electrical Wire 
Wire from Switch to Solenoid Block (14-3 Wire)  
Run the 14-3 wire from the solenoid block to the toggle switch located inside of the 

sample door.  From the rocker switch run the wire up and out the top of the hopper, but 

under the extension.  (See Figure 4)  Use ¼òx1ò lag screws and 3/8ò cable clamps to 

secure the wire down the side of the hopper to the rear and under the engine cover to the 

solenoid block.  

 

The 14-3 wires at the switch all get a 14Ga female end crimped on. The black wire goes 

to the middle post. The GREEN wire goes on the post that is on the same side of the 

switch marked OPEN. The WHITE wire goes on the post that is on the same side of the 

switch marked CLOSED. 

 

The WHITE and GREEN wire at the solenoid block both get 14Ga female ends crimped 

on.  The BLACK wire gets a 14Ga -1/4" ring terminal crimped on. The BLACK wire 

gets bolted onto the positive post of solenoid block marked (+). The GREEN wire connects to the left 

post on the solenoid block. The WHITE wire connects to the right post. 

 

Wire from Battery to Solenoid Block (#6 Double Strand) 
Run the #6 double strand wire from the battery to the solenoid block which is located underneath the 

engine cover.  The wire follows the existing power wires running up to the engine.  Follow the wires 

across the backside of the engine and go forward to the rear of the hopper on the right side of the engine 

compartment and then to the solenoid block.  Use plastic ties to secure the wire to the plastic conduit. 

Take caution to keep all wires away from moving objects.  Cut the wire leaving a little slack by the 

solenoid and battery so wire ends can be crimped on. (See Figures 5) 

 

Slide a red rubber boot onto the positive wire and a black rubber boot onto the negative wire.  Then crimp 

two #6-1/4" ring terminal crimped to the ends.  The red wire will be the positive wire and will get bolted 

on the positive post marked (+) of the solenoid block along with the black 14Ga wire running from the 

switch.  The black wire or negative wire will be bolted onto the negative post (-). (See Figure 2) 

 

The wires at the battery get two #6-1/4" studs crimped on. The positive wire (red) gets a circuit breaker 

spliced inline right by the battery.  Cut the positive wire 3ò-4ò back from the end and crimp two #6-#10 

studs on and bolt circuit breaker inline.  Wrapping the circuit breaker with electrical tape prevent shorts 

from happening.  Connect wire ends to battery later. 

 

 

ROCKER SWITCH

CICUIT BREAKER

HEAVY DUTY REVERSE
DC CONTACTOR

BATTERY
NEGATIVE (-)

BATTERY
POSITIVE (+)

WIRE LEADS
TO MOTOR

Figure 4 

Figure 3 

Figure 1 

Figure 5 

Figure 2 

Figure 1 



 3 

Wire from Solenoid Block to Motor (#6 Double Strand)  
Run #6 double strand wire underneath the top platform to the right side of the combine.  Secure both the cable from the battery and the cable to the motor 

with 3/8ò wire clips and ıòx1ò lag screws to the back of the hopper.  Finish running the wire to the motor in Step 3 after the rear rolltube is installed. 

 

The ends at the solenoid both get a black rubber boots and a #6-1/4" studs crimped on.  Connect the wires to the outside posts on the solenoid.  It doesnôt 

matter which motor wire goes on which post of the solenoid.  If the motor runs the wrong direction reverse the wires at the motor. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Note:  The front handle will have to be removed from the extension.  It interferes 

with the mounting hardware of the passenger front hood.  If equipped with a GPS 

system the mounting bolts will have to be loosed up and the GPS sensor moved 

down so it will not interfere with the tarp system.  (See Figure 7) 

 

 

Step 2:  Front Rolltube Assembly Installation 
(See Figure 8-9) 

Procedure:  With the front extension flipped up and drill two 13/32" holes 

through the outside support braces 3-3/4ò down from the inside lip of the 

extension and centered on the brace. (See Figure 8)   Fold the extension down 

and place the front rolltube (tarp) on the extension so the holes line up. Make 

sure you have the side marked Passenger (PS) on the rolltube assembly on the 

passenger (right) side of the combine. Then slide two 3/8"x5" carriage head bolts 

through the 2x2 aluminum tubing and the extension. Secure with two plastic 3/8" 

female knobs on the inside of the hopper.  Place the extension back up into place. 

 

 
 

 

ROCKER SWITCH

CICUIT BREAKER

HEAVY DUTY REVERSE
DC CONTACTOR

BATTERY
NEGATIVE (-)

BATTERY
POSITIVE (+)

WIRE LEADS
TO MOTOR

Figure 7 

Figure 6 

Figure 8 
Figure 9 



 4 

Step 3:  Rear Rolltube Assembly Installation 
(See Figure 8&10-11) 

Procedure: With the rear extension up drill two 13/32" holes through the outside support 

braces 2-3/4" down from the inside lip of the extension and centered on the brace. (See 

Figure 8)  This is the same as the front mounting hole locations.  Fold the extension 

down and place the rear rolltube on the extension so the holes line up. Make sure you 

have the motor on the passenger side (opposite of unloading auger).  Slide two 3/8"x5" 

carriage head bolts through the 2x2 tubing and the extension.  Secure together with two 

plastic 3/8" female knobs on the inside of the hopper.  Place the extension back up into 

place.   

 

Run #6 double strand wire underneath the top platform to the right side of the combine.  

Secure both the cable from the battery and the cable to the motor with 3/8ò wire clips and 

ıòx1ò lag screws to the back of the hopper. (See Figure 11)  Run the wire up along the 

back of the hopper to the motor leaving slack at the bottom of the extension so when you 

fold it in the wire is loose. 

 

The ends of the wires 

at the motor both get 

#6-1/4" studs crimped on. The ends at the solenoid both get a black rubber boot and a 

#6-1/4" stud crimped on.  Connect the wires to the outside posts on the solenoid.  It 

doesnôt matter which motor wire goes on which post of the solenoid.  If the motor runs 

the wrong direction reverse the wires at the motor. 

 

The wires can now be connected at the 

battery with the red wire going to the 

positive terminal. 

 

 

Step 4:  Rear Hood Latch Support Bracket Installation  
(See Figure 12-18) 

On the rear flip up extension two latch support brackets get mounted. Towards the middle of the hopper, 

position the bracket so it is 3-1/16ò from the hopper support brace and tight against the top lip of the 

extension. (See Figure 12)  This will make the latches install easier and secure the hoods properly. 

 

Front  Hood Latch Support Bracket Installation  
(See Figure 12-18) 

On the front flip up extension two extension brackets get mounted. Secure the extension 

brackets with two ıò self-drilling tech screws, so the outside of the bracket is even with the 

corner of the flip up extension.  See (Figure 12A.)  This will make the latches install easier 

and secure the hoods properly. 

 

 

Step 5:  Hood Assembly &  Installation 
(See Figure 12-17) 

Procedure:  Attach the hood latches to the plastic 

hoods with 1/4"x1" truss head bolts (9) 1/4" flat 

washers, 1/4" Nylok nuts (10). There are two 

different latches; one latch has two bends in it 

while the other is shorter with only one bend in it. 

The 2-bend latch (4) has to be bolted on the front or 

back of the hoods in the track. The other latches (5) 

get bolted onto the hoods in the middle where the 

two hoods go together.  

 

With each latch the cable from a knob (7) will get 

bolted onto one of the mounting bolts.  Slide the 

cable over the bolt and secure with a nylon lock 

nut.  Make sure the outside of the bolts are smooth 

with no burs so it will not wear /cut the tarp. If 

there are burs use a file and remove them. 

 

Install the strap handles (6) onto the inside of the 

hoods with 1/4"x3/4"truss head bolts (8), 1/4" flat 

washer (11), and 1/4" nylon lock nuts (10).  Fold 

the ends of the straps over and slide the bolt 

through both holes. 

  

Figure 10 

Figure 13 

Figure 12 

Figure 11 

Figure 12A 


